Trig - Review

Homework #11 (due Monday 10/27)

* Final Exam Practice Problems
Review Session - 3:45pm, Monday, 10/27
Final Exam - 1:00pm, Tues. 10/28

October 27, 2014
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Find the exact value of cos—cos— — sin—sin—.
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Givenv = (3,-2) , w=(-7,1)

1. Findv —w.

<10,-3>

4, Find a unit vector u in the same direction as v.
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Given the complex numbers z; = 5 cos(45°) + 5i sin(45°) and z, = 10 cos(50°) + 10i sin(50°),

5. Findzz,. %C($4’5° 1O crs 50°
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7. Convert z; into standard form. 2. = a‘t \_
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Given the complex number z = 6 — 6i,

8. Find the modulus |z|.
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9. Find the argument 8 of z.
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10. Find the length of an arc that subtends an angle of 120° on a circle whose diameter is 12 cm.
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Evaluate the following trigonometric expressions:

11. sec% @ 13. tan(—90°) (S\M‘a

12. cos(—420°) \/ 14. sin 135° 2
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Evaluate the inverse trig function. Give your answer in radians.

15. sin™? (__) —T1r 16. cos™1 = ﬁ—
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17. Simplify. cos 125° cos55° — sin 125° sin 55°

flx) = —3CSC(4X—|—%)—2

a. “amplitude’ '3

2 T
b. perlod-——- =z

C. horlzontal shn‘t

A (rd-(-)
d. vertlcal shn‘t

. -2 (Wl\)
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e. “amplitude” s
f. period '"'/3

g. horizontal shift}“i-/j

= T (cigf)
h. vertical shift gl




Trig - Review October 27, 2014

Angle Quadrant (I, I, Ill, or IV) | Reference angle (in degrees)
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Given that sinx = —and x is in quadrant |V, find sin 2x, cos 2x, and tan 2x.
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